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Question Number : 1 Question Id : 3419799350 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Find out the smallest virus from the following
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Options:



TMV
1 IS b

Herpes virus

27845 POD
2

Adenovirus
A 365
=, ==

Polio Virus
OB DB
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Question Number : 2 Question Id : 3419799351 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 WrongMarks: 0
Which enzyme is responsible for replication in TMV
e o,
TMV &5 BN D DoB ereyeh Hood
Options:

RNA dependent RNA ;*gpff(?:-‘;r,gg
| RNA est°88 RNA 68%

DNA dependent RNA replicase
, DNA esc°88 RNA 6%;3?5)

RNA dependent DNA replicase
_ RNA 5588 DNA 8384

RNA dependent DNA replicase
RNA esg8¢s DNA 6284
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Question Number : 3 Question Id : 3419799352 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



What is the insect vector for Rice Tungro disease
50 eofy TBS TUE Do S0 DO
Options:
Aphis gossipi
05 nﬁiabin
1
Myzus presica
2020 DBNE
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Nephotettix apicalis
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Balclutha nibila
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Question Number : 4 Question Id : 3419799353 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

A group of flagella is present at one end of the bacteria is known as
ePSO0T S 208 DHBES’ EF2T0 oK) E0t3 TP Dok

Options:
Monotrichous

ArITe385H
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Lophotrichous
STBED

Amphitrichous
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Peritrichoits
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Question Number : 5 Question Id : 3419799354 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Which Bacteria produce Sulphuric acid
3 a:oﬁ@odp Heres 08 escosd &S B3008
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Options:
Heliobacteria
Fo it Iy wgam

Beggiatoa
erAaire)

Psetdomonas
A& aroeh

Thiobacillus
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Question Number : 6 Question Id : 3419799355 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 WrongMarks: 0

Find out the bacteria that cannot survive in the oxyvgen environment
223120 TPTDER0S” SR FAT ergasrL ool
Options:
Azatobacter
922¢5” e3°46

Bacillus
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Clostridium

sG o300
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Pseudomonas
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4.

Question Number : 7 Question Id : 3419799356 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
The alpine and arctic mountains are become red due to rich growth of which algae -----
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Options:
Qedogonium

) &EFDabo

Haematococciis

. 0658 85

Trichodesmium
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Chlamydomonas
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Question Number : 8 Question Id : 3419799357 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 Wrong Marks: O
Diplobiontic life cvcle was found in
B C00VBE 2B IFo BIS” EIBRS
Options:

Chara
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Zvgnema
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Polvsiphonia
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Ectocarpus
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Question Number : 9 Question Id : 3419799358 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Which part of the ovule helps to detach the seed from placenta
€904 €57 Q) 2K Do Aod DBHod BB BaDEFRIS VIFADDHEBE

Options:
Scutellam
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Suspensor
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Question Number : 10 Question Id : 3419799359 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 Wrong Marks: O

Amylum stars are formed in
@ RVO LT BIS’ DEycEraw

Options:
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ojgﬁsﬁdbi}
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Qedogonium
, SEFdabo

Question Number : 11 Question Id : 3419799360 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 WrongMarks: 0
Find out the algae that shows Carposporophyte stage in their life cvcle
B30 23 5o & EVINTDE 9% R0 SHA Goll 3DV SROFDod

Options:

Ulothrix
0505 @SN
1.
Spirogvra
, DT
Coleochaete

3 £OBr DS

Polysiphonia
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Question Number : 12 Question Id : 3419799361 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



Which fungus is known as Ergot fungus
oe5 Do e BJ ot
Options:
Aspergillus orvzae
€50y 00 2,083

Claviceps purpurea
5Dy Oy batr
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Rhvzopus stolanifer
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Pencillium glacum
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Question Number : 13 Question Id : 3419799362 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Club root of Crucifers disease was caused by
ghbéb G308 L5 68 7B B HY SerDdAO
Options:

Plasmodiophora
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1
Piuccinia
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Pyricularia
288805
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Question Number : 14 Question Id : 3419799363 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Which spores are produced from the germination of teliospores
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Options:
Uridiniospores
O?il)@éﬁcﬁﬁgﬁ;)éb

1

Teliospores

X eﬁﬁ)cﬁpﬁﬁbéb

Aeciospores
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Basidiospores
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Question Number : 15 Question Id : 3419799364 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

The Lichens grown on rocks are called as
00D DOT FIHA DD eV
Options:
Terricolous
. 880D

Corticolois
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Saxicolous

FEE0D

=
Lignicolous
@Jﬁrléﬁ 0D
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Question Number : 16 Question Id : 3419799365 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Find out the African “Manna Lichen”
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Options:
Parmelia

évéé@cmﬂ
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Cetraria
2¢36030°

Lecanora
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Evernia
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Question Number : 17 Question Id : 3419799366 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 WrongMarks: 0
Litmus has been used as acid-base indicator in laboratories, it obtained from
VAT e3:50-308 AEDET &DARAS e D BIeE VDR

Options:

Lobaria
. 25 er8ai



Roccella
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Parmelia
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Peltigera
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Question Number : 18 Question Id : 3419799367 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 WrongMarks: 0
The juvenile stage of moss plant is
L A0E) B, erey 5%
Options:
Gennna
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1.

Protocorm

JeS'se6)

Prothallus
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Question Number : 19 Question Id : 3419799368 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 WrongMarks: 0
Whicl bryvophvte having intercalry meristem in its sporophyte
o ¢
T\EpereS” 2oessR Derasy Seerrwror $DA &0l AR DB

Options:



Marchantia
mm&bm
1. ol

Anthoceros

. 09208 oD

Spherocephalus
3.

Funaria
S ieslelen
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Question Number : 20 Question Id : 3419799369 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Brvophvtes are originated from Pteridophytes, this concept was supported by
IO DET D0E) e 565;3@ Q08 O oo €530t 9] 2PHID ﬁmgo&é&

Options:
Church
56

e
Fritsh

2565
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Sehimper
23056
2

Wettstein & Kashvap
DE RO O0ED FFD
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Question Number : 21 Question Id : 3419799370 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



The siphanostele with single leaf gap is called--------------
208 DBPoRY 9S55PF0 SHAD TPWPSRE POGEIN00RD... ... ... ... 90D

Options:
Solenostele

oS 65
1. &
Dictiostele
A 3365
> & ]
Plectostele
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Actinostele
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Question Number : 22 Question Id : 3419799371 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 Wrong Marks: 0
Which plants are called as vascular cryptogams
¢
@) AWK VR TPPSPOHVES DAY A E) .0 Y 20D
Options:

Thallophytes
| TSR e

| Bryophvtes
| 833385 e

Pteridophytes
B6E e e
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Spermatophytes
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Question Number : 23 Question Id : 3419799372 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0
Find out the homosporous Pteridophyte
RBDG D2 BOE PP 00K oS0l
Options:

Lveopodium

g8 oo

1

Azolla
| enEere
2. «@
Marsilea
mcﬁa&)w
=y
Salvinia
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Question Number : 24 Question Id : 3419799373 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 Wrong Marks: O

Which is correct statement related to Rhynia
SIS £ D0230HND DT PELD DA
Options:
It is living fossil
@b 22D Ferao

Plant is gametophyte
08, VoGEFH D
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Rootless vascular plant
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Heterosporous plant
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Question Number : 25 Question Id : 3419799374 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
What is the Age of the Conifers
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Options:
Triassic period
| ©03°8 P00

Jurassic period
, 20008 P00

Tertiary period
8306 s*00

3

Cretaceous period
86322050 sPw0
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Question Number : 26 Question Id : 3419799375 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 WrongMarks: 0
During the development of sporophyte, protocorm stage is present in
T\ TS 0DBQ D0, FE'srad 3% HIS® DS
Options:
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Equisetum
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3

Marsilea
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Question Number : 27 Question Id : 3419799376 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 Wrong Marks: O

Which is incorrect with respect to Gyvmnosperms

S o

Ddysdere) Da0es” DA SN

Options:
Neck canal cells are absent

Slelo 93@5 gePe) Eotead)

Albuminous cells are present
QNI SEFL 20 SDA otod

2

Comipanion cells are absent
RT° SEP Gotia)

Homosporous condition is present

“&355&?0%325&93 20 €98 &otod
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Question Number : 28 Question Id : 3419799377 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 WrongMarks: 0

The fossil resin Amber is obtained from
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Options:



Pinus succinifera
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NISESE Ny
Abies balsamea
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Tetraclinis articulata
BEPEIQ 89S0Ter
Agathis alba
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Question Number : 29 Question Id : 3419799378 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Gnetum differs from other gymnosperms by having
DD RHG Doy Derord B £9A DBALS

Options:
Archegonia
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Xvlem Vessels
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Many cotvledons
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B0
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Question Number : 30 Question Id : 3419799379 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Match the following
308 TP 2HDEDl

A. Gynobasic stvle

I Aster .
steraceae A 90&E%H6 Swo

0350
[

B. Pollinia

II. Fabaceae Q’)"%.ﬁm

T3

C. Safety mechanism

III.  Asclepiadaceae BET° oIS L0

€220):D0DED

D. Piston machanism

IV. Lamiaceae
DY aroBSo

PN

Options:

b ARy G k- 1)

I-C; II-D; III-B; IV- 4

2

_ LD; I C; III-4; IV-B

s FC D IIEA; V-6

Question Number : 31 Question Id : 3419799380 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

The zygomorphic flowers. diadelphous androecium, descending imbricate aestivation of corolla are
present in the family ---------------
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Options:
Caesalpiniaceae

iaao&nbzncﬁﬁa

Mimosaceae
20D HH
- T

Poaceae

A0

Fabaceae

PE3D

Question Number : 32 Question Id : 3419799381 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Cvathium inflorescence is the characteristic feature of --------------- family
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Options:
Orchidaceae

: eﬁﬁbéi::

Euphorbiaceae
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Annonaceae
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Asclepiadaceae
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Question Number : 33 Question Id : 3419799382 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0



Monotropa hvpopitys var. glabra is raised to the specific rank as Monotropa hvpophegea based on
ArIE O BOD var. trerdo D worTred ArSED ITODAL Sair 0 &8 0ojod & Docrdd

Options:
Morphological studies

. e.:wm}g rQSdPnJ ?ﬂg @cﬁéo:bmm

Anatomical studies
@oéﬁg’mém R @¢5m13:3ﬁm

2

Phvtochemical studies
0E) © GIODTV  WEIADT

Cvyvtological studies
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Question Number : 34 Question Id : 3419799383 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
APG system of classification is largely based on
APG Sﬁégdﬁ aﬁgsﬁ“g DED) ST BAD BTPEDE E0t00d

Options:

Molecular data of Chloroplast DNA
ETr DNA G308, esend B DdeerSo

1
Morphological characters

eaﬁt‘.jﬂ?g ‘Jascijﬂ‘&:: e E e

Molecular data of Mitochondrial DNA
20¢5°arog ol DNA GIn8) e 25 Ddeeredo
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Anatomical characters
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Question Number : 35 Question Id : 3419799384 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Match the following based on Bentham & Hooker’s system of classification

Borrad 208050 TES HBEEE WTPSore §ob TOD 20 DEVoC

1 Polvpetalae A. Inferae
DTS QD D3

I Gamopetalae B. Microspermae
TPRI° 267 E\3)

111 Monochlamvdiae C. Disciflorae
ArITE &) '3

1V. Monocotvledonae D. Microembryae
2rIeBIED EDoHID

Options:

I-C; II-4; III-D; IV-B
I

, I-C; II-4; III-B; IV-D
_ I-4; II- C; III-D; IV-B

A -G TR 1V-D

Question Number : 36 Question Id : 3419799385 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
According to Charless E Bessev rules, the advanced character is
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Options:

' Spiral phvilotaxy
QONT"E0 DG DT°[R00
Tz

Bisexual flowers

& dots ar
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Actinomorphic flowers

eRHak0S QYaryew
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Epigvny
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Question Number : 37 Question Id : 3419799386 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

World Siddha medicine Day
Dot D DSy B0
Options:
22" May

S

14" April
, D0 14

10" May
, 2010

5™ April
, DDOS 5

Question Number : 38 Question Id : 3419799387 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



Saffron is adultered with
L0500 D] BIE £§ BJcd

Options:
Peltophorum pterocarpum

::ga‘)“d& essﬁsv%s;

Morinda tinctorea

20Bo &ogam

2

Carthanius tinctorius

59300 B8 600D
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Sesamum indicum

2P QoA ED

Question Number : 39 Question Id : 3419799388 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Bacopa monnieri belongs to the family

)8 2vD6 5600837 DE Boddear0d

Options:

Acanthaceae

| 95T0BD

Convolvulaceae

X Smﬁwseji}

Brassicaceae
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IESSERS



Lamiaceae

ePAID
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Question Number : 40 Question Id : 3419799389 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Which of the following plant having Withaferin-A is the main plvtochemical constituent

& 200 T8, D Y. DEFBD-AX0 HEER BIroDDTE £A Sotod
Options:
Sarpagandha
‘r:}(’jbﬁoﬁﬁ

Nela usiri
S0 &do

Ashhwagandha
eﬂésﬁoc:;

Brahmi
5
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Question Number : 41 Question Id : 3419799390 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 WrongMarks: 0

Medicinally useful plant part in Piper longum
DOE erorfo 208) &S DO SHABFHEEROD 2o

Options:
Leaves

b
, OB

Fruits



Roots
DA
= ]

Flowers

Question Number : 42 Question Id : 3419799391 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
According to AYUSH system of medicine how many flowering plants are used as medicine
e300 TAES b?g.;ﬁ‘rg 0s*8o ;)D‘l @glborj Emégjw ZSore ab@vﬂoém@a}m&w

Options:

More than 7000
1 7000 €083 DE)
Less than 5000
5000 o83 EURS

More than 30000
30000 Zoé3 JJSJZ’:J

Less than 900
900 Soé3 VRS

Question Number : 43 Question Id : 3419799392 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 Wrong Marks: 0
Central Drug Research Institute is located at
= =3
Dot)S & 628y @3@&1?5&5 DE) 6 €08
Options:

Hyvderabad

P TREICD
1. [ .



Bangalore
5 RlTaLbuleb)

Mumbai
= QAL0ETPO)

Lucknow

Ug&cl
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Question Number : 44 Question Id : 3419799393 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Which of the following is incorrect statement

& SoHT°IS” DA AL DEOD
Options:
Tunica - Carpus organization is seen in shoot apex
é.}::zgf.}sv-s*nébia 3200 DD SPoLr(o e5° £DB0A
1. :
Waiting meristem is present in shoot apex
sPordo &5° D0WoH Yo &otnod

Korper- Kappe theory explains T- divisions in shoot apex
$°636-82y derodo  Soto 7D T- Dasadun DDO006

3

Histogens are present both in root and shoot apices
DE B3 SO FTE S &otnod
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Question Number : 45 Question Id : 3419799394 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 WrongMarks: 0
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Roots of Mangifera
LI035 0° cﬁxjsb 3 50e5°

Petiole of Nymphaea
DodatrHgy Do &°

z.
Leaf of Nerium
Do He &5°
3.
Stem of Pinus
DOD TP &S°
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Question Number : 46 Question Id : 3419799395 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Companion cells are related to
DI geren BIS 20220H0DDD

Options:

Phloem fibres
1 DNE TG

Xvlem fibres
, 3D PG

Sieve tube elements
PO TeY SDTFOTTD

Sieve plates
oo D) Desven

Question Number : 47 Question Id : 3419799396 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



Match the following

S0& T RHDEH0G
I Guttation A. Medullary Rays
DotdIeH0 &5 Baen
II.  Ascent of sap B. Hvdathodes

&S Q000 Bodomren

III.  Translocation of solutes C. Xylem
TR ?ﬁ*oédm e lebPu)

IV.  Lateral conduction D. Phloem
.5"635 FOTaTel:c) D1 geereo

Options:

| I-B; II-C; IIL-D; IV- 4
_ I-C; II-4; [II-D; IV- B
, I-4; Il B, III-C; IV-D

) I-D; II-4; III-B; IV-C

Question Number : 48 Question Id : 3419799397 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 Wrong Marks: O

Amphivesal vascular bundles are present in

&0 TYTSTE TP o B ol
Options:
Achyranthes
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Boerhaavia
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\ Dracaena
5
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Nvctanthes
QSP0
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Question Number : 49 Question Id : 3419799398 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Two nuclei at the micropyvlar and the chalazal end was observed in

e90¢LEP B0 S8 terer © I Bodd Sogisren BIS” Huocserraw
Options:
Penia tvpe
| dAasr 8o
Plumbago type

5 Doerd 8o

\Peperomia type
. | DOE AT Bo

\Adoxa type
| e0&l5™y B0
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Question Number : 50 Question Id : 3419799399 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Amoeboid tapetum is absent in
292D0VETONE DI Dotides” EDPoIEDd
Options:
Tradescantia

a7, Do
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Typha
S
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Tridax
QCTED

o

Helianthus
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Question Number : 51 Question Id : 3419799400 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Which type of pollination is happens in Commelina flowers
S T a0 D B0 BT oY) 0 2EHSE
Options:

Geitonogamy

| BOSHD

Xenogamy

3,365

Homogamy

T AED

Cleistogamy

3

Question Number : 52 Question Id : 3419799401 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Which of the following chemical can be used to remove self incompatibility in Brassica species
s rdhoees’ ‘:’-':35053 DS SRS $08 SFoHDeS” BID &HAITAFE
Options:
Calcium chloride

| s°Qodo §5&

Sodiim chlorvide

5 oo SGE



Hydrogen chloride
TE2D §3&

e

Barium chloride
, 80apo §38&

Question Number : 53 Question Id : 3419799402 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Mesogamy type of pollination is occuirs in
065 Do 882D DAL 3e5° 280608008

Options:
Casuarina
| ST OP
Cucurbita
5)5"..}% ére
>
Azadirachta

e9arc O5e
2 ar

Nyctanthes

. ,-f}gvuqﬂf:r

Question Number : 54 Question Id : 3419799403 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Ruminante tvpe of endosperm is present in
BRI B2 90LBING0 BIS” SDDR0H
Options: |
Annona

1 9.5



Hibiscus

FoBea
o

Magnolia
mﬁi datr
3
Grevillea

) HDdatr

Question Number : 55 Question Id : 3419799404 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Adventitive polyembryony was found in
e9RINBZY) 23TV BS” LS
Options:
Citrus
DI
L.

Lilittm

, &&ao

Allium
e9daav

Festuca
DALST

Question Number : 56 Question Id : 3419799405 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Pollen kit is rich in
DTG 3G DO wdgorr $DH eotod

Options:



Lipids and Proteins
DD 8oty Vedaw

Lipids and Carotenoids
O HoBatn SHEToLE

Carbohydrates and Proteins

S8 \arEen 0800 o

3,
Carbohydrates and Carotenoids
) S0 G S8k SESToE

Question Number : 57 Question Id : 3419799406 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Schleiden and Sclhhwann proposed cell theory in

5 3 w, !
2D B80S Se3 DTPoTE) DZN\ED DAF S0

Options:

| 1836

1838
2

1840
3.

, 1642

Question Number : 58 Question Id : 3419799407 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

The nucleus is absent in the following

& 308 To0S° B’ oo cokicd

Options:



Sieve tube elements

, T Y Barested

\ Red blood cells
, | 8 88 Seren

Bacteria
. erg8asr
All
@:)lm
4

Question Number : 59 Question Id : 3419799408 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

In nucleosome, the DNA and histones are bonded together by
Br3aird’ o &7, DD H805w Y D woted ANADE eotraw
Options:
Hydrogen bonds
P& 20 05

Hvdrophobic bonds
S DPDS evorren

Covalent bonds
23T 2205378

Van Der Waals bonds
TPt Tred eomren

Question Number : 60 Question Id : 3419799409 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Fatty acid synthesis occurs in
%“.{)359_:: D0FNE? ;)s?Jci 280005008

Options:



Mitochondria
1 PRRl Rl Tateuh

Golgi complex
, r‘.i“% Qosho

Cyvtoplasm

Seaga 0
3

Endoplasmic reticulum

2905855 Bad(re0
4 =

Question Number : 61 Question Id : 3419799410 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 Wrong Marks: O
Which cell division stage is best suitable to view size, shape and number of chromosomes
60 D (596" DB DB, 55760 B0KEL §ArE AL DL 0TS ESDE
Options:
Prophase
DE2O &%

Metaphase
G 63

Anaphase
B0 &%

Telophase
odd| 53

Question Number : 62 Question Id : 3419799411 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0

Which of the following layer is thickest among the secondary cell wall
OB Ses S8 TBS” DO BOoSZODHE



Options:
Inner wall

9088 SO0

Quter wall
mﬁjﬂge‘_’a g5%90

Middle wall
o‘fu{:f:é g5%%0

None
D8 50D

Question Number : 63 Question Id : 3419799412 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Recessive epistasis represents which of the following ratio
908 DIV $08 NS WA

Options:

 12:3:1

o

5 9:3:4

Question Number : 64 Question Id : 3419799413 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
The recombination of genes were occuirred in
2RAGEHO 3DREDATRH0 B35 2280008

Options:
Single strand stage
| S TS 3%



Two strand stage

a1 g &%
o

Three strand stage
; 8 V'S &%

Four strand stage
, B DG 5%

Question Number : 65 Question Id : 3419799414 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 Wrong Marks: 0
Coupling and Repulsion experiments were carried out on fruit fly by
£9:30V0TPA0 B0 Ssgﬂa DATTPO EJ%ner S 2808

Options:
Bateson and Punnett

. £3eO 8oL HJY &5
Morgan
QT
Sinnott

?oa“‘leﬁ

Belling

&9oh

Question Number : 66 Question Id : 3419799415 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
What is the functional unit of gene
28 S Sasre) § ario DB

Options:



Recon
05

Muton
aﬁJJ5¢T5

Cistron

23S

None
DA D

Question Number : 67 Question Id : 3419799416 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0
Which of the following genotypic ratio represents the “colourless full seed” in maize

S08 2R0JETD ABOVS” D& 20 F'HY S’ HY Glred LORTY DD ATV
Options:
CCss
g CCss

ccSS
cC 1515

CcSs
CcSs

CCSE
CCSS

Question Number : 68 Question Id : 3419799417 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 Wrong Marks: O

Which of the following is correct in the case of Klinefelter syndrome

SV DoE D DNoH0S” $08 TS IS HBHE

Options:



| 444+ X

, 444+XXY

444+XYY
3

, 44T XXX

Question Number : 69 Question Id : 3419799418 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Find out the inducer in Lac Operon
oS wD0° €57 TS e9ED) A SOF Do

Options:
Lactose

&Pgeﬁ

1.

Allolactose

o erSS

Glucose
8D

Galactose

rﬁug 5

Question Number : 70 Question Id : 3419799419 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Lac 4 geiiﬁpi’*ﬂdﬂf&?

8 4 805D B0 GS\S SZ008

Options:
B-galactoside isomerase

- BerS pE oY 0ds



p-galactoside transacetylase

B- S RE ErO\eRBSE

B-galactoside acetviase

B- GerSnE e0DBSE

[- galactosidase

p- rwug DES

Question Number : 71 Question Id : 3419799420 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 WrongMarks: 0

The following molecules are continuously moves from nucleus to cytoplasm

308 9 e AoST oo Sogiso &doct Seagdio &5° A DYTPHoLTow
Options:

DNA
A

1

RNA
6,999

z

Histones
o 0
=3 e

Ribosomes
, S8'E Swen

Question Number : 72 Question Id : 3419799421 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
The anticodon sequence is present in
DA 203hE evdugaren DS’ eotron

Options:



m-RNA
- e36.09.9

t-RNA
t- €36.D0.9

~RNA
r- 36.dR0.9

DNA
&.dD.D

Question Number : 73 Question Id : 3419799422 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 WrongMarks: 0

UV-B rays induces pyrimidine dimmers, they were repaired by

UV-B $8e3° Sentizgiosn 8N ((asren B ) &0 Bashechdd
Options:

Green light

. 550 DYy 503

| Red light
o | JEDRY) SP0

Blue light
. O 5708

Yellow light
DAY DI 503

4.

Question Number : 74 Question Id : 3419799423 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Endoplasniic reticulum and nucleolus disappears in which phase of mitosis

0385 G(reo 8ok Sogsroto DD S°D D ¢S ey

Options:



Early Prophase
SO DA &%

1.

Late Prophase
, 08 DS &%
Early Metaphase
SO (R &%
3 @

Late Metaphase

. S0 a‘m;ﬁ?g:ég &%

Question Number : 75 Question Id : 3419799424 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
element plays an important role in nitrogen fixation
SAaredo Hehaad gemmsﬁ DA T°Y HFL0S

Options:
Copper
5706

Manganese
A5°06DD

Molvbdenum
MBQR’)D

Iron
Falo )

Question Number : 76 Question Id : 3419799425 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
In oxidative phosphorylation the terminal electron acceptor is

23380600 FV\OTAS &° o] JOTS (o

Options:



4 CO;

Question Number : 77 Question Id : 3419799426 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
The organelles having ATP synthase to synthesize ATP molecules?
ATP 2980800 0035750 3008 ATP D083 o SHAHD) Stavorren D?
Options:
Mitochondria

DS sPogodr

Chloreplast
S8HBe)

Mitochondria and Chloroplast
Dot srododr 83D 8BED)

None
28 52D

Question Number : 78 Question Id : 3419799427 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0
What is the functioning mineral ion of Photosystem-117
570D H§5-11 S” Sasrd) § D2 WOIrS &Y

Options:

Molybdenum

y m@a;)éo



Manganese
, ST06D

Magnesium
o
- &Jﬁlﬂoﬁjn

Iron

28D
4,

Question Number : 79 Question Id : 3419799428 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
The herbicide DCMU inhibits the electron transport at

(00 723 090D DCMU 0TS 87t d8),¢ QB B008

Options:

, Q4—0s
, Phe—04

. QB%C:‘I-‘E‘.I}J

Question Number : 80 Question Id : 3419799429 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 WrongMarks: 0

Identify the correct combination to initiate the shoots from calluis

SPOR A0Q SPoE B\ FBoDoLL HTH WFHTAY S0 Do

Options:
High auxin and  high evtokinin concentration

&S 533D S0BakD A PESBID e

| High auxin and low cytokinin concentration

, 0B e33O HoBokn e DE'SID e



Low auxin and low cvtokinin concentration

290>y 9310 BUBOKL  eery DSBS Treses
B

Low auxin and high cytokinin concentration

290y €934 08050 B SIS Treed

Question Number : 81 Question Id : 3419799430 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Which hormone can induce the flowering in short dav plants grown under long duration of light
88 62 oo D8RAVES” TA] B S0 D) VIO EDBHE DAYEBD HFDo B &7
Options:
I Auxins

R

Cvytokinins
SIERGE
e
Gibberellic acid
2803895 esso
2 =, 2

Abscisic acid
, 08 0S5 23200

Question Number : 82 Question Id : 3419799431 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 WrongMarks: 0

Circadian vhyvthms in plants are regulated by

293 JoBDD HDTA

Options:
| Phototropins

DS
1.



Phytochromes

E5°E 080
2
Phototropins and phycobilins
DG DSy oot PEDO
3

Phytochromes and phvcobilins

2e5°F Ben 8ok PEDHL

[ I

4.

Question Number : 83 Question Id : 3419799432 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 Wrong Marks: O

H'??HI s meant bl‘l-‘ an apoenzynle

03 OB VDR

Options:
Protein portion

'S axtio
i

Non-protein portion

. TED 52 etio

Prosthetic group

o OBS Ddurro

None

DA 57D
4.

Question Number : 84 Question Id : 3419799433 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Fats are hydrolyzed by
B B¢ S DD BODFNE BODEIETOW

Options:



Pepsin
333}35

Trypsin
B21S

Chymotrypsin
Sargad .;\}5
e
Lipase

TE
4,

Question Number : 85 Question Id : 3419799434 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 WrongMarks: 0
The huge number of stomata are present in the leaves of
t
D DTS’ &Y VoS’ DY dograw eotron
Options:
Xerophytes
Nl asle Q) e

Hydrophytes
D& 2w e

Mesophytes
ﬁm“&&ﬁ“m

Epiphytes
Sy E 0B

Question Number : 86 Question Id : 3419799435 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Which of the following is widely used as weedicide

308 T78365° BAR FensY DT BT Do EDWBIAIED



Options:

, IB4

, 144

Question Number : 87 Question Id : 3419799436 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 Wrong Marks: O
The process of conversion of nitrogen to ammonia is called as
t L}
HR Eﬂ?.lJ";':)D‘.‘iJ"TT’ Sob o) R[08 i)csﬂa“.bj oot ?

Options:

Nitrogen fixation
D52 ,gu:m

Nitrogen assimilation

S Fofigses
Z
Nitrification
] DHSGe
Denitrification
; DB Ee

Question Number : 88 Question Id : 3419799437 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
How many molecules of ATP are required to fix one molecuile of nitrogen
WS €98 AHRAR .g"::h‘«‘) NGB IBIRI= ;):Jl ATP e9e300)e0 95508000

Options:

1 12

- 16



Question Number : 89 Question Id : 3419799438 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
If?ﬁ?l‘m{’-}?fﬁffﬂfi pProcess, Yeast converts gh:‘t‘ﬂ-?ﬁ into

3eagd DS’ 4R (rEE T SArE008

Options:

. CHHsOH & H20
5 C->H;OH & O>
. CoHsOH & CO»>

C:>HsOH only

Question Number : 90 Question Id : 3419799439 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Which of the following plant was widely used in photosynthesis experiments

& 308 ) O BI S8eRd] DorHSaD HATTRS” DYtore DA
Options:

Brassica

&JPR5

Chlorella
§oer

Hvdrilla
g

Arabidopsis
EPD’&:’GI“&.’JJ )



Question Number : 91 Question Id : 3419799440 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 WrongMarks: 0
The initial reaction of glycolysis is
G50 & Frtsozs 50y
Options:

Phosphorvlation

&ﬁﬁbaéz::l&

Dephosphorviation
5 NGRS

Carboxylation

Decarboxylation

Question Number : 92 Question Id : 3419799441 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Which of the following solutions increase the cell volume

& 308 roTeE” IO %6 IDBITEEY dothdeirod
Options:
Hypertonic
. QS TED® P80

Hypotonic
, BV TPES® TPat0

| Isotonic
o | R0 TPED® Tradeso

None
, DO o



Question Number : 93 Question Id : 3419799442 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 WrongMarks: 0
In fermentation process, energy is
Sea(d DIOHES’, 33
Options:
Produced

| B33 S0

Stored
, .busﬁﬂtﬁjmc:am

\ Consumed
. | )O3R0t

Released
. QLG

Question Number : 94 Question Id : 3419799443 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 WrongMarks: 0

Wilting of leaves is majorly due to

e550e HEDI HL HEPIHDOD S°8E0

Options:
Due to blocking of xylem

PE0) 908 G0 HD

L
Duie to blocking of phloem
NS $earw 9B B0 HOD

Duie to temperatiire
eVt Sed

= £a

Duie to pressiire

0AC HUD



Question Number : 95 Question Id : 3419799444 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

element is essential for synthesis of auxins
233 DoFNER Sorogo esd%(So

Options:
Iron

P8
],

Calcium

s*dado
5 o«
Zine
205
3.

Copper

5206
4.

Question Number : 96 Question Id : 3419799445 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0
Most of the nitrogen is fixed through

DD g»::a e HOEL B TT° 2EHSS

Options:
Nfrmgeirﬁxfﬂ g oreanisms

B FOD B

Lightnings

Feblobr6) (b}

Nitrogen pollution from the industries

08300 Ao DeDHE dGA STeV0
3.



Volcanic eruptions

Ay DECed DAP\D
4.9_9‘1;::‘5 s e

Question Number : 97 Question Id : 3419799446 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Which of the following plant having Crassulacean Acid Metabolism
& S0d Emézje_:-esﬁ DA TS0 €35 25 oL $OA Eotwod

Options:
Jatropha
2T

Neritm

5 Hoatw

Tridax

&y

Agave

el

4.

Question Number : 98 Question Id : 3419799447 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
In photorespiration, the amino acid serine was produced in
S8 FR30D &° B 0D 9ROT 80 ) ¢ B\ BoeICOAE
Options:
Glyoxysomes

(esS & ooen

Peroxisomes

bcﬂébe?fhmw
>



Chloroplasts
3e8¢h SradHew

Mitochondria

e5’sP0d oo

4.

Question Number : 99 Question Id : 3419799448 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 WrongMarks: 0
Which of the following elements are necessary for chlorophyll synthesis
& S08 765" DEBI8S D0FNEL 9DDERVD HAaTreSTeD
Options:

, Mg, Cu

Mg, He
. Mg, Mo

4 Mg, Mn

Question Number : 100 Question Id : 3419799449 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0
How many ATP and NADPH s are required for synthesis of one moleciile of glucose

208 9ED) HPS'H VOB, D) EDD® ATP S8 NADPHe 953807

Options:

. 9ATP, 6 NADPH

, 18 ATP, 12 NADPH
, 6 ATP, 9 NADPH

i 12 ATP, 18 NADPH



